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v Eudid SHHS 0/83t0l HThB%+ (a,b)E (ab)=as+bt HEfZ B
1. (9005, 3003)

3/9005 3003|-751
9009 3004

-3
751 -4 1-(-3)-(~751) = -2252

9005- 751+ 3003 (—2252) =—10|22 9005-(—751)+3003-2252 =1=(9005, 3003)o|Ct.

2. (1508, 462)

31508  462(4 1,0,1,—4,1-(-4)-(-5)=-19, -4—(~19)-3=53
1386 488
122 _26 0,1,-31-(-3)-4=13,-3-13-(-5)=62,13-62-3=-173
5/ 122 —26|3
130 —24 = —2=1508 53+ 462 (~173)
g o (1508, 462) = 2 =1508-(53) + 462-173

3. (2793, 1953)

12793 1953 2
1953 1680 10,1,-2,1-(-2)-3=7
3| 840 273|2% 0,1,-11-(-1)-2=3,-1-3-3=-10
819 273 = (2793, 1953) = 21=2793-7+1953-(-10)
210

4. (18183,6069)

3|18183 6069|253
18207 6072
—24 -3

1,0,1,253
0,1, -3,1—(~3)(-253) =758
= (18183,6069) = 3=18183- (~253)+ 6069 - 758
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